
Soft drink savings

In Tesco, an orange juice costs 75p and a Coca-cola is 60p.

                                        

Alan spends £4.50. What could he have bought? (2 solutions)

Judith receives £1.40 change from £5.00. 
What might she have bought? (2 solutions)

A four-pack of orange juice is £2.59.
What will Chris save if he buys two four-packs instead of 
eight single bottles?

Coca-cola has 10% off if you buy 12 cans. 
How much would you save on the usual price of 12 cans?

What change would you get from £10.00? 


